A 8 B A £
BEBCABHL = ABEYBER2 TELAHET.
T B =
(B30H'73) (R 8 ko8
x A K g (£FR8) BB &
B B4
BB S & F
= UBHD B )
= — )
x 7l
g %8 & 2| ( ) — ETEHD — —
E X — U @
TR K 2 CBEICEIEE
B 2% 53
- o B ) 53
S FTETTEVER (&
C ) ( )&
(CNETORIES)
AR (DA B
5 A % @I RJFEDFLEE) :
(BL\BRE)
(FAED=>2) ( i) ( i)
(IR 45R72E) ( B ( B
s = J B ( 53) ( B ( B
CHEEE
B = (] KERaIH=E (] #FEBDFREIHE (] MHFUFSREIHE
B ( )@ 1@ ( D) EE EERIBZE( M)
B
;e - iRy ¢ ) ~ ( )1 ~
o ( ) 2 ~ ( ) B2 ~
( ) 2 ~ ( ) B2 ~
HZINBE O E ik B @B
ARFE 16,5008 | ( )ADEER B
IR RS A R BT mn
ARE Y B JAFTLIFIIVE( YBD 440M
F )
ARAFEE 8,260 | & &t M
(BNEEE) [ BRRIEER

XBABREEHRTSN BEDHEIEE EBEN. LEZDICOHDEREFICHHIERENET.

w BRSOV —RpzEnhes)

€ ewmEnsE
iness standar

' Social and Sustainable bus




